A ACTUATECH S.p.A.
. San Lorenzo X 705
u ® EKF Villa Carcina(BS) ,
FiE +390308908142 - {£R +390308908143
ACTUATECH '

GSAYRHI B BRI T
R SHHTE

N GEPIT S

PUTHRAREHLE : 15 Nm~4000 Nm

A=)



https://www.cn.actuatech.com/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/
https://www.cn.actuatech.com/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/%E9%93%9D%E6%89%A7%E8%A1%8C%E5%99%A8/
https://www.cn.actuatech.com/ImmaginiProdotti/Pallinato-GS.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - %j{%{qug\/ﬁi\la Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

1. BRI B A B
MARTEZR SRR Z MR ER T ;
RMEKIRER | Rl R mE SR A EE.

24718, BEMENHNREERII50 HRC
ERRRAT AR RN

3HTEANTER Z [RIABN R
BN RS

4RENERIT B (B ERNTE R BN , BEME S ANEHE3)).

TREERNE BN RIR BRI SEN , IR D BRI

FTIFMKAN A & B3R SR

TRk AAIITE AR, RETFEERER

ABRTFERMEENIITE , HEEE/N-30% Kg/Nm) , 2215 ERHRHIR AT R RAA

HRTRRAMEAAIITES  HRESEBEMR, (W 1 -40% 24X cm3/Nm ; 813§ 1 -20% TS, cm3/Nm) , BB BRI RERTM TERS , SREEMER/IR
~FEYE..

S.TBENELRE
BETEIRMRERREE | AR KR .

6.Stainless steel shaft
Higher corrosion resistance

B GD15HY S 28 NAMURB R i3
TR I INEE

TEACTUATECHE B RN TTRETBLEF~IRAE
SIMLTENN B RIEER

ATEXGAIE
A RFETHRIESRIMERN

REIESILIERAIAE
EERETRE%R

\__ Be environmentally friendly..please don't print this document unless you really need to. 2/26



n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH '

it

HARSE

H5EA-FISNM~4000NmMZ [

JEZHEOARME : ENISO 5211

FO3 - FO4 - FO5 - FO7 - F10 - F12 - F14 - F16 - F25

TFE15714-3hr A

BEREAE - 92°(-1°, +91°)

HEBNHSE R EINARIHREEUR TRENIES) , SHVENTX, BEBHEEEFARZE ; BKES NRIE
SPEENRA AT R, SSILEBhK

WEERIGSHATRMR AL B & 5.6Barlfiezhifise (Nm) THIZNYIE] (6=5.6Bar)

ATEXINIERI ST EEE (2014/34/UE)

BT

B -20°C~+80°C (#§54ELS @ §iR=-20°C~+150°C ; {Kif=-50°C~+60°C)
FEESN : 5.6bar ; REfEILES : 8.4bar

MR THRERAATIRNERES

TEIREE |, VEEFASNBRM RARFEA HIHAL,



L N

P
& .
ACTUATECH

it

GSI15 - GS960

ACTUATECH S.p.A.
San Lorenzo X 705
EKF Villa Carcina(BS) ,
B3E +390308908142 - {EH +390308908143

GS15(NmM)ZEGS960(Nm)H MBI TR

A
Al

Dispositivo di limitazione della corsa
Stroke limiter device
(max 109

Interfaccia EN15714-3 (NAMUR)
EN15714-3 (NAMUR) interface

S w ok
%' o ©- ”XA
oo L
1
24
IhiL
q |-. ®. .-
' o Y o _

Be environmentally friendly..please don't print this document unless you really need to.

Dispositivo di limitazione della corsa
Stroke limiter device
T (max10°)

- T -—
R<>

Anello di centraggio a ichiesta
Centering ring on request

ENISO5211

Ch

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)

\ Accessories interface EN 15714-3 (VDI/VDE 3845)

4 /26


https://www.cn.actuatech.com/ImmaginiProdotti/Attuatorepneumatico-SRN15-SRN53.png

Ca

®

ACTUATECH

T
R
ISO

Al (2,8 Bar)

C x depth
D x depth

W (=

A

B

E

I O

4 »n o OV Oz r —

A
e

ch
FEE(Kg)

#SE (dm>3/cycle)

WHEM
R
ISO
A
Al (2,8 Bar)
B
C x depth
D x depth
E

I O

4ln v O v o Z X r —

=
5/
E;

EE(Kg)

#=8 (dm3/cycle)

)

KGGI0018
GS60
FO5/FO7
3385
309,1
17
M6x9
M8x12
50

/8"

3,35
0,33

FARSHFK GSI5(NM)EGS53(Nm)

KGGI0O014
GS15
FO3/FO5 FO4 FO4
2333 2333 259
2038 2038 2285
il n 14
M5x8 M5x8 M5x8
M6x9 = _
36 42 42
50 - _
10 10 13
30,3 30,3 35,7
9 9 10
792 79,2 90,4
315 315 37,7
47,7 47,7 52,7
132 132 16,5
27,7 27,7 32,7
315 315 37,7
109 109 14,5
20 20 20
592 592 70,4
1/8" /8" 1/8"
13 13 13
12 12 1,95
0,09 0,09 0,17

H = BRSO

HARSHFK GS60(Nm)EGS360(Nm)

KGGI0019 KGGI0020
GS90 GS120
FO7/F10 FO7/F10
5O5Y) 409,6
3418 361,6
22 22
M8x12 M8x12
M10x15 M10x15
70 70
102 102
16 17
54,5 58,1
15 15
137,5 1411
56,5 60,1
81 81
24,8 24,8
51 51
56,5 60,1
20,2 225
30 30
107,5 m
/8" 1/8"
22 22
59 6,8
0,55 0,8

H = BIRERF

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,

FaIE +390308908142 - {£H +390308908143

KGGI0016
GS30
FO5/FO7
259
2285
14
M6x9
M8x12
50
70
13
357
10
90,4
37,7
52,7
16,5
32,7
37,7
14,5
20
70,4
/8"
13
1,95
0,17
KGGI0021
GS180
FO7/F10
474
406,6
22
M8x12
M10x15
70
102
19
60
19
148
62
86
243
56
62
25,5
30
n8
1/8"
22
89

KGGI0022

GS240
F10/F12
520,5
4541
27
M10x15
M12x18
102
125

72,9
29
30

1349

/4"
27
7,8
15

KGGI0060
GS53
FO5/FO7
3043
270,7
17
M6x9
M8x12
50

KGGI0023
GS360
F10/F12

613
523
27
M10x15
M12x18
102
125
195
615
22
178
78,5
99,5
29,5
69,5
785
31,8
30
148
/4"
27
16,5
2



|

Ca

®

ACTUATECH

S8 (dm3/cycle)

GS1440

&M
R~
I1SO
A
Al (2,8 Bar)
B
C x depth
D x depth
E

I O T

=4 » v OV 0z r

W (S4K)
ch
EE (Kg)

F10/F12
648,22
563,8

36

M10x15
M12x18

102
125
19,5

78

24
198
935

104,5
385
74,5
93,5
365

30
168
1/4"

27
227
28

HAREWK GS480(NmM)EGS960(Nm)

Be environmentally friendly..please don't print this document unless you really need to.

KGG10025
GS720
Fl4 F12 Fl4
6482 798 798
563,8 683 683
36 36 36
M16x24 M12x18 M16x24
140 125 140
19,5 19,5 19,5
78 86,5 86,5
24 27 27
198 216 216
935 1015 1015
104,5 14,5 114,5
385 38,5 385
745 845 84,5
935 1015 1015
36,5 41 41
30 30 30
168 186 186
1/4" 1/4" 1/4"
27 36 36
22,7 33 33
2,8 42 43
H = BEEMR L
GS1440(Nm)EEFHITRE

ACTUATECH S.p.A.

San Lorenzo X 705
ZK#H Villa Carcina(BS) ,

FaIE +390308908142 - {£H +390308908143

KGG10026

F12/F16
828
74,4
46
M12x18
M20x30
125
165
185
99,2
32
2377
14,7
123
485
93
14,7
46
30
2077
1/4"
36
42
59

Fl4
828
N4 4
46
M16x24

140
18,5
99,2
32
2377
114,7
123
485
93
114,7
46
30
207,7
1/4"
36
42
59

6/26



P
& .
ACTUATECH

ACTUATECH S.p.A.
San Lorenzo X 705
EAF Villa Carcina(BS) ,
FRIE +390308908142 - {£H +390308908143

Regolatore di corsa

834
686
46 188 498
046 H11
_ | —
) N
1] \
Regolatore di corsa | .t - - -
Stroke adjustment  /
(+/-5° maxif,f’
[)
s
D165F16
40
3/8'GAS 2%
* ¢
® L O . Interfaccia EN15714-3 (NAMUR 2)
. ~ "\ EN15714-3 (NAMUR 2) interface
—— S ) S—
n°4 Méx10 & /
346h]1

«© v
| olo i
1 LI |
1
T
! Nl wn
of ol o
o=
ENISOS211
Méx12 130 n°4 M5x8
o — e ———————
el 4
Silo
HARSHER GS 1440 (Nm)
EE [Kd]

~ Stroke adjustment
T (#/-5°max)

30

165

359

!
n°4 M20

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)

=8 [dm3/cycle]

HE A

74,0
1,0
KGGI0735


https://www.cn.actuatech.com/ImmaginiProdotti/AttuatorepneumaticoSR1440.png

P
& .
ACTUATECH

ACTUATECH S.p.A.
San Lorenzo X 705
EKF Villa Carcina(BS) ,
B3E +390308908142 - {EH +390308908143

GS1920
GS1920(Nm) S SF AT
1001
857
046 H11
|
: N
Sp= |
| = =1\ s = = i
'&J B Dispositivo di limitazione della corsa
Dispositivo dilimitazione della corsa S L (S"Okig’:;’"e’ device
roke limiter device max
* (tmax 10°), I I _nﬂ
AEF//>
40 @ 165 F14
20
3/8" GAS
° Interfaccia EN15714-3 (NAMUR 2)
EN15714-3 (NAMUR 2) interface
wn
> 240
n°4 Méx10 N
0 DAs|
Oy
o [
= = ™
oo ~O
° O
) 2
. 0
&= - - : - - L X
& g
[e@]
! ~
o ) —
™ t
wnr
o | o n°4 M20
(SIS
ENISO 5211
Méx12 130 n°4 M5x8
i
o T
™
Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
1o} Accessories interface EN 15714-3 (VDI/VDE 3845)

Disponibile versione con doppia regolazione della corsa (+/- 5°max) con codice SR1920E16D8A.
Available version with double stroke adjustment (+/- 5°max) with code SR1920E16D8A.

BARS¥E GS 1920 (Nm)
EE[Ka]
{#HS 8 [dm3/cycle]
&Y

Be environmentally friendly..please don't print this document unless you really need to.

67,0
12,0
KGG10230

8/26


https://www.cn.actuatech.com/ImmaginiProdotti/AttuatorepneumaticoSR1920.png

P
& .
ACTUATECH

GS2880
GS2880(Nm)#AHSEhITSS

1201

ACTUATECH S.p.A.
San Lorenzo X 705
EKF Villa Carcina(BS) ,
B3E +390308908142 - {EH +390308908143

996

046 H11

Regolatore di corsa
Stroke adjustment
(+/- 5° max)

T

A§///>

Regolatore di corsa
Stroke adjustment
(+/- 5° max)

361
155 206
Q72
| @52
o |
o)
3 S
- o~
[vp)
——1 ™
.
~O
Ol
™ |
n°4 M20

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)

40 165F16
0
3/8" GAS
4 4 —
Interfaccia EN15714-3 (NAMUR 2)
D @ EN15714-3 (NAMUR 2) interface
i
0
n°4 Méx10 N
3¢hll Regolatore di corsa
Stroke adjustment
= (+/- 5° max)
~ T
[ee;
jolof
1
7
=4
| |
™ Lo
O O
/ M <
EN1SO 5211
Méx12 130 n°4 M5x8
YPAE . ——
T s
I 7
Q
™)
g
= —H. N
olo
I ] o |
BARS ¥k GS 2880 (Nm
EE [Kd]
H#SE [dm>/cycle]
wH &

Be environmentally friendly..please don't print this document unless you really need to.

16,8
21,0
KGGI0535

9/26


https://www.cn.actuatech.com/ImmaginiProdotti/AttuatorepneumaticoSR2880.png

P
& .
ACTUATECH

ACTUATECH S.p.A.

San Lorenzo X 705

EKF Villa Carcina(BS) ,

B3E +390308908142 - {EH +390308908143

GS4000
GS4000(Nm) B IFAMITER
1370
1184
055 H11
q D
q #’ \§ D
. - - r dicorsa
Stroke adjustment
Regolatore di corsa d k\ , /é D M
Stroke adjustment G W \
(+/- 5° max) 1
[« ! \; = £
b2
225,
40
20 @254 F25
3/8" GAS :JI 072
< 0;; @ 52
6 o Interfaccia EN15714-3 (NAMUR 2) *
w0 EN15714-3 (NAMUR 2) interface o i
il N ™
n°4 Méx10 N
36,h11
DO <
Slo
aa—H
H—
q
|
q ﬁéﬁﬁﬁ

0
RSB

Regolatore di corsa
Stroke adjustment
(+/- 5° max)

Méx12 130 n°4 M5x8

BARSHEER GS 4000 (Nm)
EE[Kd]
S8 [dm3/cycle]
wH &M

Be environmentally friendly..please don't print this document unless you really need to.

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)

183,0
291

KGGI0540

10/26


https://www.cn.actuatech.com/ImmaginiProdotti/AttuatorepneumaticoSR4000.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - %j{%{qug\/ﬁi\la Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

N
LS

GSI15 - GS960

TR RSB SEITARAH : GS15-GS960

TR R BB AT AL GS15-GS960

fiva=y B wE MR

1 i) 1 BEe
2 VEES 2 BEe

3 HE 2 BEe
4 % 1 Nz

5 +FrEtk 1 BEW
6 SARBE 1 ZREERS S
7 S 1 Z YRR S
8 HE 2 wmEe
9 1) 2 BEs
10* EZESEIN 2 E A
* TEEX AR 4 P.T.F.E. carbo-graphite filled
12* TEEEOE 2 NBR
13 i O 1 FKM

14 LA 1 Z YRR R
15 Yoy 1 RN
16 Seeger 314 1 TR
17 HFOME 1 FKM

18 W2RF 2 HBEe
19* HEOKE 2 NBR
20 244 8 TR
21 SHETURG 2 BEe
22 HEFAR 2 wmeEe
23 I 2 E&M
24* OJ¢ 2 NBR

25 +FIBHIBRISMT 1 HEE
26 +FIBRIBRIPT 1 e
27 FHFF (OPTIONAL) 1 BEe

* BHERNAEN


https://www.cn.actuatech.com/ImmaginiProdotti/1407.jpg

A ACTUATECH S.p.A.
. San Lorenzo X 705
v ® . %jﬁ{'ﬁqz\/ﬁilla Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH 1

GS1440

TRRSHBRESEPITERA L | GS1440

h__ ~ Beenvironmentally friendly..please don't print this document unless you really need to. 12/26


https://www.cn.actuatech.com/ImmaginiProdotti/1408.jpg

g ®

ACTUATECH

A&

A WIN

24
25+
26*
27*
28
29
30
37
32
33+
34
35
36
37
38
39
40*
41
42
43
44
45
46
47
48

EA
WE
R
[E3LEN
PSR
(oF7::]
a3k
BABTkARS
TSR
O
oF 75 |
TIAHEE
EEIRS
SRBE
RS
B
E S
ERIRIE
B R I (1 )
SR
VRS
(oFi7:. |
TFER
BERE
O R
SR
O JEH
JI=:20Y 3
Hh
Seeger MR
BhlERAT
VS
7RI
oF i 7:: |
31 SR
MELE
O &
Him
JERCIZAS
EfIRIE
O
AN
ERIRIE
FETRR IR
O Rl
NS EAR
O Rl
REEF AR
Shas

TRRNSBBFPITERAL : GS1440

HE

1
1

MR

|
4
A
4

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

Nitrilic rubber

|
|

P.T.F.E. carbo-graphite filled

FKM

FKM

fa
|

ZYERER AR

A

it

T EF &3

|

Nitrilic rubber

|

ZURRER AR

Nitrilic rubber

P.T.F.E. carbo-graphite filled

FKM

ZURRER AR

|
L
|

ZYURRER AR

A

Nitrilic rubber
P.T.F.E. ik ASSIER

4

Nitrilic rubber

|
|
|

Nitrilic rubber

|
|
|

Nitrilic rubber

A

Nitrilic rubber

A
|
* BHERNAN

\L Be environmentally friendly..please don't print this document unless you really need to.

13/26



n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - %jﬁé\/ﬁi\la Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

GS1920
TR RS EITARAH - GS1920
w2 @ VERSIONE SEMPLICE EFFETTO @
sy SPRING RETURN VERSION =
0
136
n;
(EY; I3
& il
N &
17} g i‘:
16+ =
150
9
1
B
5
1
VERSIONE DOPPIO EFFETTO
DOUBLEACTING VERSION

2 B 36 30 3 12 e 21337 (W0 64 39 (20 (834 19 @ w2

** OPTIONAL

\__ Be environmentally friendly..please don't print this document unless you really need to. 14./26


https://www.cn.actuatech.com/ImmaginiProdotti/1409.jpg

g ®

ACTUATECH

=y

22*
23
24

25+
26
27

28*
29
30
31
32
33
34

35+
36
37

\L Be environmentally friendly..please don't print this document unless you really need to.

E% 03
[auc]
TREE
Hi
ek
+FER
XABE
BE/SRKE
TS
L3R
BE
R
3| SR
SR
TEZEOT
H_FOFE
SMLAEI
B
SeegersfE
SO
HMTOE
HEOWE
BE-SIEOE
E520E
VAEAZ A
RO B
YRR
L5
THORE
2 RF
EiRE
AR
B ST S A S
METTE
FRERIZAE
SE/FR (OPTIONAL)
ES oS
BAE AT

TRRT B FPITERAL : GS1920

HE
1
2
2

0N

NN NN NN NNN

12
2
* BHRRKANT
* ek

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,

FaIE +390308908142 - {£H +390308908143

ME
mE
HEE

=)
IR
EEW

ZYURRER AR
Z YRR R

P.T.F.E. carbo-graphite filled
P.T.F.E. carbo-graphite filled

A&
BEW
P.T.F.E. i A SRk
YRR AR
Nitrilic rubber
FKM
ZYERER AR
i
B
Nitrilic rubber
FKM
Nitrilic rubber
Nitrilic rubber
R
BN
Nitrilic rubber
B
A&
Nitrilic rubber
i
R
HaE
N
HEE
N
wEsE
W
A&

15/26



A. ACTUATECH S.p.A.

San Lorenzo X 705
\/ ® EAF Villa Carcina(BS)
ACTU ATE c H FIE +390208908142 - {£E +390308908143
GS2880
TR RS S BT AN - GS2880
¥
2
e ﬂ)a,;\ a
ML blg
“ LT ®
T ; =
2 ' 2 [FTi 2 —H
= = > » 2%
; 3. )
s &

h__ ~ Beenvironmentally friendly..please don't print this document unless you really need to. 16/26


https://www.cn.actuatech.com/ImmaginiProdotti/14010.jpg

g ®

ACTUATECH

Pos

24*

26
27
28
29

30*
31+

32
33
34
35

36*

37+
38

39+

40%
41*
42
43
44

45+
46

47%
48
49
50
51*
52*
53
54

B2
WE
4REH
kL s
Ze =i
O i
eSia
Dyt
IR
O B
WER BRI
{RAPTTIRAS
ERigs
F 1L ZhitE
DAl A4S
%
XA
TXAGEE
EEIE
O &
XAEBE
L1V
FAEEBAT
EL
HEOF R
HE
R RCIZFS
B2
EHIR0E
IR
oK@
5| S
TEEO
TEE
+rEt
BE/XEE
Ok
O F
fR A
A
O i
AR
iy
Seeger MR
SHETUR RS
O Tk
/NSRS AR
O Tk
REBFEER
Shatpgk
PAEEES
RIS
O B
HE
Seeger R

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

TR R AIX s S Ta A 4 GS2880

1 1615 O Y I .-

I

N — = = N N N NNNN = = == = NN~ = NN NNNN

MR
i
il
i
)
Nitrilic rubber
58
i
REEN
Nitrilic rubber
8
i
RN
i
il
i
P.T.F.E. carbo-graphite filled
h
il
FKM
YRR AR
Z YRR g
i
48
Nitrilic rubber
£
W
W
W
il
Nitrilic rubber
P.T.F.E HASHR
Nitrilic rubber
8B
W
Z YRR g
Nitrilic rubber
Nitrilic rubber
=
P.T.F.E. carbo-graphite filled
FKM
ZYERERS g
N
il
i
Nitrilic rubber
=
Nitrilic rubber
=
il
i
Nitrilic rubber
FKM
il
i
* RFERANANT

\L Be environmentally friendly..please don't print this document unless you really need to. 17/26



P
& .
ACTUATECH

GS4000

& B33

1 WE

2 REH

3 EESoA S
4 MLz TE
5* Ok

6 RiFE

7 [aprdds]
8 FILER
9 O
10 TR BRI
1 RIPTOIRKE
12 EfIRE
13 ALz
14 [
15 a3kt

16 oA
17 F25 0
18 O
19* (o522
20 XABE
21* TR

TRRSTHRE ST TR 1 GS4000

TRRTHB P TEAS : GS4000
e
2
2

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

&
=

& 3 2

|

Nitrilic rubber

A
|
R

Nitrilic rubber

A
|
R
|
|
|

1 P.T.F.E. carbo-graphite filled

Be environmentally friendly..please don't print this document unless you really need to.

A
!
FKM
ZYERER AR
Z YRR

18/26


https://www.cn.actuatech.com/ImmaginiProdotti/14011.jpg

g ®

ACTUATECH

2
23
24*
25
26
27
28
29
30*
30
32*
33
34
35
36*
37+
38
39+
40*
41
42
43
44%
45
46
47
48
49
50
51
52
53
54
55
56

57
58

FBhERAT
MELE
HmO Mo
Him
E e
EfEIRIR
R
TARARAE
O
5| S
JEIEOTE
TREE
+FER
BE/SRE
O Rl
O
G312
S
Ok
Bl:2 7S
B
Seeger MR
AP TR
HE
Seeger
BIfRTA=
EZIZHE
R
TEERIE=
O
IR0
S
PSR
RPF AR
O ¥k
O
/N RAR

N

N NN NNNNNNN

* EHRRNANT

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

L

A
Nitrilic rubber

4

"

i

"

4
Nitrilic rubber
P.T.F.E. AEIAR
NBR
4
L
ZYERER AR
Nitrilic rubber
Nitrilic rubber
L
P.T.F.E. carbo-graphite filled
FKM
ZYERER AR
"

"
Nitrilic rubber
L

@i &

x &

48
Nitrilic rubber
4
L
i
L
Nitrilic rubber
Nitrilic rubber
4

\L Be environmentally friendly..please don't print this document unless you really need to. 19/26



ACTUATECH S.p.A.

2
& .
ACTUATECH

B ) Eaib
EF it fo EoRIERE

Nm Aria Air Molla Spring Nm
100% 100%
75% 75%

L o /’// T
50% i 0 SR i e S = 50%
25% 25%

0° 15° 30° 45°  60°  75° 90°  75°  60°  45° 30° 15° 0°

\_ Be environmentally friendly..please don't print this document unless you really need to.

San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
g +390308908142 - {£H +390308908143

20/26


https://www.cn.actuatech.com/ImmaginiProdotti/1113.jpg

O

\ g

®

ACTUATECH

Rt

GS 15

GS 30

GS 53

GS 60

GS 90

GS 120

GS 180

GS 240

GS 360

GS 480

GS 720

GS 960

GS 1440

GS 1920

GS 2880

GS 4000

a°

0°
50°
90°
0°
50°
90°
0°
50°
90°
0°
50°
90°
0°
50°
90°
0°
50°
90°
0°
50°
90°
0°
50°
90°
0°
50°
90°
0°
50°
90°
0°
50°
90°
o°
50°
90°
0°
50°
90°
0°
50°
90°
0°
50°
90°
0°
50°
90°

2,8 bar + 40 PSI

5,
7,5
37

5
15
7,5
10

26,5
13
17,5
30
15
20
45

22,5
30
60
30
40
90
45
60
120
60
80
180
90
120

240
120
160

360
180

240

480

240

320

i
5

22,5
45
40
30
60
60
45
90
80
60
120
120
90
180
160
120
240
240
180
360
320
240
480

EEHAER(Nm) a°= GEisH &

3,5 bar + 50 PSI

=5
9,4
4,7
6,3
18,8
9,4
125
&
16,5
22
375
18,8
25
56,3
28,1
B7AS
75
GBS
50
12,5
56,3
75
150
75
100
225
12,5
150
300
150
200
450
225
300
600
300
400
900
450
600
1200
600
800
1800
900
1200
2500
1250
1666,3

%
6,3
4,7
9,4
12,5
9,4
18,8
22
16,5
33
25
18,8

375

S
28,1

56,3
50

YD
75
75

56,3

12,5
100
7S
150
150

12,5
225

200
150

300

300
225

450

400

300

600

600

450

900

800

600

1200

1200

900

1800
1666,3
1250
2500

4,2 bar + 60 PSI

zs

T
13
56
75

225
13

15
40

19,5
26
45

225
30

67,5

339
45
90
45
60
135

67,5
90
180
90
120

270
135
180

360
180

240

540

270

360

720

360

480

960
2160
1080
1440
3000
1500
1999,5

\L Be environmentally friendly..please don't print this document unless you really need to.

S
7,5
56
3

15
3

22,5
26
19,5
40
30

22,5
45
45

339

675
60
45
90
90

67,5
135
120
90
180
180
135
270

240
180

360

360
270

540

480

360
720

720
1440
1440
1080
2160

1999,5
1500
3000

ACTUATECH S.p.A.

San Lorenzo X 705
ZK#H Villa Carcina(BS) ,

HIE +390308908142 - {£H +390308908143

5,6 bar + 80 PSI

120
60
80

180
90

120

240

120

160

360

180

240

480

240

320

720

360

480
960
480
640
1440
720
960
1920
960
1280
2880
1440
1920
4000
2000
2666

S
10
75
15
20
15
30
B85
26
53
40
30
60
60
45
90
80
60
120
120
90
180
160
120
240
240
180
360
320
240
480
480
360
720
640
480
960
960
720
1440
1280
960
1920
1920
1440
2880
2666
2000
4000

21/26



L N

e .

ACTUATECH
A%

ACTUATECH S.p.A.

San Lorenzo X 705

EKF Villa Carcina(BS) ,

B3E +390308908142 - {EH +390308908143

"GS"SEPATARRIER

SCHEMA DI FUNZIONAMENTO

Senza pressione di alimentazione, nella versione semplice effetto, I'at-
tuatore torna automaticamente in posizione di riposo compiendo una
rotazione oraria e la posizione finale & quella rappresentata nel disegno.
Sul foro 2 é consigliato montare un filtrino onde evitare che polvere o
particelle solide possano entrare nella camera del cilindro senza tuttavia
impedire il passaggio dell'aria.

WORKING PLANE

Without air supply, the spring return actuator returns to its resting position, rota-
ting in a clockwise direction. The drawing shows its final position.

We assembling a small filter on the air connection 2 to prevent dust and parti-
cles into the cylinder chamber without, however, preventing the passage of air.

SCHEMA DI FUNZIONAMENTO

Immettendo aria nel foro 4 di alimentazione, i pistoni si muovono
verso l'esterno comprimendo le mollg, si ha una rotazione antioraria e
la posizione finale € quella rappresentata nel disegno.

WORKING PLANE

Supplying air through the air connection 4, the pistons move outwards
pressing the spring. An anticlockwise rotation takes place and the final
position is shown above.

ATTUATORE REGOLABILE-ISTRUZIONI PER L' UTILIZZO ACTUATOR WITH STROKE ADJUSTMENT-INSTRUCTIONS

TAPFO
CAP

i \| CHIAVE C
\KEYC

A) Verificare che le molle siano in posizione di riposo osservando la chiave dell'albe-
ro (part. n°1) come da disegno e controllando che nel foro “D” non ci sia pressione.
B) Togliere i controdadi (part. n°3) agendo sulla chiave C.

C) Con un cacciavite avvitare le viti (part. n°2) in senso orario ed effettuare la limita-
zione di corsa desiderata.

N.B. La corsa puo essere limitata per un massimo di 10° da 80° a 90°

D) Immettere aria nel foro “D" e verificare che entrambe le viti (part. n°2) siano a bat-
tuta contro i pistoni (part. n°5).

E) Bloccare i controdadi (part. n°3) muniti di O-ring (part. n°4) per |a tenuta tra con-
trodado, tappo e vite.

N.B. queste spiegazioni sono indicative, per le istruzioni operative, vedere il manuale.

R) The springs must be at rest position, the shaft (part. 1) must be as shown in the dra-
wing. Air connection D must not be supplied with air.

B) Remove the counter-nuts (part. 3), acting on C key.

C) By means of a screwdriver turn screws (part. 2) in a clockwise direction until you
obtain the requested end-stroke regulation.

Note: maximum adjusting stroke 10°, ranging from 80° to 90°,

D) Supply connection D with air pressure and check that both adjusting screws (part. 2)
stop the pistons (part. 5).

E) Screw the counter-nuts (part. 3) and their O-ring (part. 4) to keep nut and cap tight.

N.B. these explanations are indicative, for operating instructions, see the manual.

Be environmentally friendly..please don't print this document unless you really need to.

22 /26


https://www.cn.actuatech.com/ImmaginiProdotti/FunzionamentoGS.png

n ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

FiE +390308908142 - {£R +390308908143
ACTUATECH

[

R&ERUSNESR

FhRBURASS

NAMUR FE7E

\_ Be environmentally friendly..please don't print this document unless you really need to. 23/26


https://www.cn.actuatech.com/ImmaginiProdotti/S4pA6Z_138.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/eGJhhd_1382.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/bUy1rq_1383.jpg

A ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

FEVE +390308908142 - f#H +390308908143
ACTUATECH

FEARR]

BSEME (RERLKE)

\_ Be environmentally friendly..please don't print this document unless you really need to. 24 /26


https://www.cn.actuatech.com/ImmaginiProdotti/ZJCPCD_1384.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/gh3LNQ_1385.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/tB5UY3_1386.jpg

A ACTUATECH S.p.A.
. San Lorenzo X 705
u ® EKF Villa Carcina(BS) ,

FiE +390308908142 - {£R +390308908143
ACTUATECH

HRAPRAAF

HLERAPRAZF

SENABRALZR

HURBABR1228112GD ExdIIC

BFVEEEFACTUATECHME =B &,

\_ Be environmentally friendly..please don't print this document unless you really need to. 25/26


https://www.cn.actuatech.com/ImmaginiProdotti/5R5jah_1387.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/8OTQlu_1388.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/xbiuxH_1389.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/gPqkJU_13810.jpg

2
& .
ACTUATECH

A

BHx

ATTUATORI PNEUMATICI IN ALLUMINIO
BAAH

MANUALE GD2880-GD8000 E GS1440-GS4000 - MAN80937
MANUALE GDOO015-GD1920 E GS0015-GS0960 - MAN8O0515

UERAHS

AKNOWLEDGEMENT OF RECEIPT - EC - ATEX
DECLARATION OF DUST AND WATER PROTECTION DEGREE IP6X-IPX8-IPX6
SIL CERTIFICATE GS

EVEIEES

GSOO15F04
GSOO15F03F05
GSO030F04
GSOO30FO5F07
GSOO053FO5F07
GSO090FO7F10
GSO120FO7F10
GSO180F07F10
GS0240F10F12
GS0360F10F12
GS0480F14
GS0480F10F12
GSO720F12
GSO720F14
GSO0960F12F16
GS0960F14
GS1440F16
GS1920F16
GS2880F16
GS1920F16 100°
GS4000F25
GSOO60FO5F0O7

\L Be environmentally friendly..please don't print this document unless you really need to.

ACTUATECH S.p.A.

San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

26/26


https://www.cn.actuatech.com/FilesProdotti/AGAA0021-ACTUATECH-ALUMINIUMACTUATORS.pdf
https://www.cn.actuatech.com/FilesProdotti/MAN80937PneumaticactuatorGD2880-GD8000-GS1440-GS4000-EN.pdf
https://www.cn.actuatech.com/FilesProdotti/MAN80515PneumaticactuatorGD15-GD1920-GS15-GS960-EN.pdf
https://www.cn.actuatech.com/FilesProdotti/AcknowledgementOfReceipt-EC-ATEX.pdf
https://www.cn.actuatech.com/FilesProdotti/DeclarationOfDustAndWaterProtectionDegreeIP6X-IPX8-IPX6.pdf
https://www.cn.actuatech.com/FilesProdotti/35-Certificate-202029401-ACTUATECH-AttuatoriGSGD.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0015F04-80532.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0015F03F05-80496.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0030F04-80498.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0030F05F07-80534.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0053F05F07-80500.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0090F07F10-80502.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0120F07F10-80504.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0180F07F10-80506.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0240F10F12-80508.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0360F10F12-80618.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0480F14-80536.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0480F10F12-80510A.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0720F12-80621.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0720F14-80622.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0960F12F16-80513.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0960F14-80514.pdf
https://www.cn.actuatech.com/FilesProdotti/GS1440F16-80739.pdf
https://www.cn.actuatech.com/FilesProdotti/GS1920F16-80538A.pdf
https://www.cn.actuatech.com/FilesProdotti/GS2880F16-80741.pdf
https://www.cn.actuatech.com/FilesProdotti/GS1920F16100-80737A.pdf
https://www.cn.actuatech.com/FilesProdotti/GS4000F25-80743A.pdf
https://www.cn.actuatech.com/FilesProdotti/GS0060F05F07-81383.pdf

	目录
	说明书
	证明书
	数据表

